9-2 Taylor Series

Learning Objectives:

I can construct a Taylor (or MacLaurin) series that models a given function

Given the Taylor Series for a function(s), I can write the Taylor series for a other functions that are compositions or products of those function.

In Groups, do exploration #1 on page 484









Ex2. Generate the 11th degree Taylor Polynomial for $f(x) = \frac{1}{2}sin(x) + 1$ centered at x=0 $f(x) = \frac{1}{2} \sin x + 1 \qquad f(0) = 1$ $f(x) = \frac{1}{2} \sin x + 1 \qquad f(0) = 1$ $f'(x) = \frac{1}{2} \cos x \qquad f'(0) = \frac{1}{2}$ $f''(x) = \frac{1}{2} \sin x \qquad f''(0) = 0$ $f'''(x) = \frac{1}{2} \sin x \qquad f''(0) = 0$ $f^{II}(x) = \frac{1}{2} \cos x \qquad f^{II}(0) = 0$ $f^{II}(x) = \frac{1}{2} \cos x \qquad f^{II}(0) = 0$ $f^{II}(x) = \frac{1}{2} \cos x \qquad f^{II}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 0$ $f^{III}(x) = \frac{1}{2} \cos x \qquad f^{III}(0) = 12$ (10) graph the $P_{11}(x) = 1 + \frac{1}{2x} + \frac{0x^{2}}{2!} + \frac{-\frac{1}{2x^{3}}}{3!} + \frac{0x^{4}}{4!} + \frac{\frac{1}{2x^{5}}}{5!} + \frac{0x^{6}}{6!} + \frac{\frac{1}{2x^{7}}}{7!} + \frac{0x^{8}}{8!} + \frac{\frac{1}{2x^{9}}}{9!} + \frac{0x^{10}}{10!} + \frac{-\frac{1}{2x^{11}}}{11!}$ = 1 + 1/2 × + - 1/2 × 3 + 1/2 +0 × 5 + - 1/10080 × 7 + 1/725760 × 9 + - 1/79833600 × 11





*Note: A Taylor Series centered at x = 0 is also called a McLauren Series. A McLauren Series is just a special case of a Taylor Series.



Ex3. Generate the 6th degree Taylor Polynomial for y=ln(x) centered at x=1. Write the formula for the Taylor Series. $P_{G}(x) = 0 + \frac{1(x-1)}{1!} + \frac{-1(x-1)^{2}}{2!} + \frac{2(x-1)^{3}}{3!} + \frac{-6(x-1)^{4}}{4!} + \frac{-1(x-1)^{4}}{3!} + \frac{-1(x-1)^{4}}{4!}$ $-\frac{24(x-1)^{5}}{5'}$ = $(x-1) - \frac{1}{2}(x-1)^{2} + \frac{1}{3}(x-1)^{3} + \frac{1}{4}(x-1)^{4} - \frac{1}{5}(x-1)^{5}$ - $(x-1)^{n} \frac{1}{n+1}(x-1)^{n+1}$



Γ

Homework

Pg 492 # 1-3, 5, 7, 8, 10, 13, 14, 22, 24-26, 31, 36-42